Destiny Grace Academy



Tools for Learning Catalog

School Supplies for the Children of Kroo Bay, Sierra Leone

School Opens on January 15, 2019

Hi!

We are so excited to start a new school, and bring hope to many children. Thank you for your interest in helping! Please browse the catalog and let us know if you would like to purchase any of the items for our school. Also, if you own some of the items listed, you may donate them to our school.

To order, please send what you would like to purchase, the quantity, and total amount to Ryanne Shafer at ryanneshafer@gmail.com or Lauren Conway at educatorathomeleone@gmail.com When the item is purchased, you will get a picture of the receipt emailed back to you. If you would like to be added to our list serve, we will also include you on updates, and pictures of our school's opening on January 15th, 2019!

Sincerely,

Lauren Conway-Director of Education

Ryanne Shafer-Chairman of Board Home Leone USA

Supplies	Quantity	Cost per unit	Total	Fulfilled		
CLASSROOM SU	CLASSROOM SUPPLIES					
Classroom Paint: Yellow, Blue, Orange, Red	16 gallons	\$15	\$240			
XACTO manual pencil sharpener	6	\$13.18	\$79.08			
Chalk-white* 12pk	40	\$1.48	\$59.20			
Chalk-colored* 12 pk	20	\$3.18	\$63.60			
Chalk Paint for Chalkboards (30 oz can)	6	\$9.97	\$49.85			
Chalkboard erasers	10	\$3.16	\$31.60			
Boards for Chalkboards*	5	\$50	\$250			
Plastic Storage Closets	5	\$300	\$1500			
Padlocks	6	\$6	\$36			
Corkboard Bulletin Boards- 22x18	5	\$15.00	\$75.00			
Bulletin Board Paper 36x1000' in red, yellow, and purple	3	\$60	\$180			
Sticky tack	10	\$3.60	\$36.00			
Tape Dispenser	6	\$2.83	\$16.98			
Tape refills-10pk	5	\$14.97	\$74.85			
Classroom Stapler- swingline	10	\$6.52	\$65.20			
Staples-5,000pk	10	\$2.96	\$29.60			
Staplers for teachers-mini	10	\$2.92	\$29.20			

Staple	4	\$1.35	\$5.40
removers-3pk			
Highlighters- 36pk	5	\$16.65	\$83.25
Pens-12 pk	5	\$2.75	\$13.75
Scissors-adult	10	\$4	\$40
Construction paper-240 sheets, assorted colors	10	\$6.00	\$60.00
Hand sanitizer- GermX, 28fl oz	10	\$3.97	\$39.70
Soap-Ivory, 10pk	4	\$3.48	\$13.92
Stickers-738 reward stickers	6	\$6.88	\$41.28
Leveled Library Mobile Storage Cart	2	\$129.00	\$258
Book stand- Help Yourself Birch	1	\$100	\$100
STUDENT SUPP	LIES		
Crayons-24 ct	200	.50	\$100
Pencils-56 pk	20	\$5.97	\$120
Rulers-16 pk	10	\$10	\$100
Kid Scissors-5pk Wescott, pointed	20	\$4.19	\$83.80
Glue -7.6oz*	100	\$2.13	\$213
Erasers-3pk*	50	\$1.46	\$73.00
Composition Notebooks-6pk*	100	\$3.00	\$300
Backpacks	100	\$10	\$1000
Student Uniform* 1 per student provided	100	\$15	\$1500

OFFICE AND ADMINISTRATION				
High Volume Printer-Xerox Work Centre 6655i	1	\$2,000	\$2,000	
Spare Printer Parts: phaser	1	\$249	\$249	
Spare Printer Part: Toner Cartridge	1	\$200	\$200	
Printer Ink Cartridges-set of 4 cyan, yellow, magenta, and black	3	\$480	\$1,440	
Colored Printing Paper-1 ream of multi-colored	10	\$9.50	\$95.00	
Staple Cartridge (3pk) for copier	1	\$121.80	\$121.80	
Printer Paper- cases of white paper	10	\$30	\$300	
Desktop office printer for admin use	1	\$300	\$300	

Laminator-USI Thermal Hot Roll	1	\$1,399	\$1,399		
Laminating Film- 200ft, 2 rolls	2	\$74.15	\$150		
Binders-3 in For administrators	6	\$13	\$78		
Binders-1.5in	30	\$5	\$150		
Subject Separators for Teaching binders	10	\$3	\$30		
Briefcases for Teachers/Admin with School name	15	\$35.00	\$525		
Clipboards-6pk	3	\$15	\$45		
PLAY-BASED LEARNING MATERIALS					
Clock Manipulatives (Amazon) 6 pk	10	\$14.99	\$150		
Linking Cubes (set of 100)	30	\$13	\$390		
Calculators	50	\$2.00	\$100		

Jesus Storybook	10	\$10	\$100		
Bibles					
Costumes Set:	2	\$100	\$200		
Includes					
Astronaut,					
Doctor, Nurse,					
police, 3 space					
helmets, 4					
animal hats					
Parachute	2	\$40	\$80		
Climbing Bars-	1	\$183	\$183		
primary colors					
Soccer Goals	2	\$40	\$80		
Soccer ball	5	\$20	\$100		
Kickball	3	\$15	\$45		
Ball Pump by	2	\$13.99	\$27.98		
sportbit with					
needles					
Playground	1	\$1541	\$1,541		
Clubhouse with					
Slide: Grandview					
Twist Deluxe					
(Amazon)					
Musical	3	\$8	\$24		
Instruments:					
Shakers (set of					
12)					
Musical	2	\$33.99	\$68.00		
Insruments: Set					
of 22 pcs					
Assorted					
Instruments					
TEACHER AND STAFF FUNDING					
Teacher Salary	1 month	\$100	\$100		
Teacher Salary	6 months (1	\$100 per month	\$600		
,	semester)	, p			
Teacher Salary	1 year	\$100 per month	\$1200		
All teachers'	10 teachers	\$1200 per year	\$12,000		
salaries for one	3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	, ,	' ',555		
year					
Admin Salary:	1 year	\$12,000	\$12,000		
Head Teacher	,	,	' ',555		
	l	1			

Elementary School				
	4	¢42.000	¢42.000	
Administrator	1 year	\$12,000	\$12,000	
Salary: Head				
Teacher Junior				
School				
Administrator	1 year	\$12,000	\$12,000	
Salary: Head				
Teacher Senior				
Secondary				
School				
Administrator	1 year	\$12,000	\$12,000	
Salary: Head of				
Adult Vocational				
School				

Destiny Grace Supply List

Based on 5 classrooms, 10 teachers, 5 Administrators, 100 students (K-JSS)

Thank you for all your support! You are making the difference to many boys and girls in West Africa!

^{**}Prices from Walmart.com, Home Depot, and Amazon as of 7/7/18



